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Alstci HR D Apolol sy st SZC|RIM S o{E35t7| 45t 1 0 0 280,000 280,000 280,000
Alstof s [HASESAONE SSUF5X| 5D} 1517| 3stid 7 0 0 2,000,000 14,000,000 14,000,000
Alstof s [HASESAOE SSUF5X| 5D} 25t7| 3stid 7 0 0 2,000,000 14,000,000 14,000,000
Alstof s [HASESAOE SSUF5X| 5D} 1517| 45t 7 0 0 2,000,000 14,000,000 14,000,000
Alsiof &2 (HASESAOE SSUF5X| 5D} 25t7| 45t 7 0 0 2,000,000 14,000,000 14,000,000
Alshci sHR D Apolol Sy st s 1517| 15H4 60 348,480 20,908,800 4,800,000 288,000,000 308,908,800
Alstci sHR D Apolol Sy st +°401|%ﬁ€— 1517| 15H4 1 348,480 348,480 800,000 800,000 1,148,480
Alshci HR D Apolol Sy st SH s 25t7| 15H4 1 0 0 1,600,000 1,600,000 1,600,000
Alsto sHE |C|Xpolof oy st +°401|*K1T— 25t7| 15H4 49 0 0 4,800,000 235,200,000 235,200,000
Alsto sHE |C|Xpolof oy st A s 25t7| 15H4 2 348,480 696,960 4,800,000 9,600,000 10,296,960
Alstci HR D Apolol sy st +°401|%K1T— 1517| 2stid 44 0 0 4,800,000 211,200,000 211,200,000
Alstci HR D Apolol sy st A s 25t7| 2stid 1 0 0 2,400,000 2,400,000 2,400,000
Alstof s |C|Xpelof ol &t Sooeds 57| 2stiA 45 0 0 4,800,000 216,000,000 216,000,000
Alstof SR |ClXtelof sl st +°401|%7<1:'— 28t7| 28td 1 0 0 800,000 800,000 800,000
Alstof SR |ClXtelof sl st ad0eXNE e 28td 1 0 0 420,000 420,000 420,000
Alstof SR |ClXtelof sl st g—<>_401|%7<1+ 1547] 3stid 34 0 0 4,800,000 163,200,000 163,200,000
Alstof SR |ClXtelof sl st sA NS 18H7| 384 5 0 0 800,000 4,000,000 4,000,000
Alstof SR |ClXtelof sl st AN 1547] 3stid 9 348,480 3,136,320 4,800,000 43,200,000 46,336,320
Alstof SR |ClXtelof sl st +°401|%7‘1:'— sH7| 34 47 0 0 4,800,000 225,600,000 225,600,000
Alstof SR |ClXtelof sl st AN 2847| 3stid 1 348,480 348,480 4,800,000 4,800,000 5,148,480
Alstof SR |ClXtelof sl st 43—0501% = HEE7| 384 1 0 0 420,000 420,000 420,000
Alstof SR |ClXpelof sl st SooedE 1547] 45t 70 0 0 4,800,000 336,000,000 336,000,000
Alstof SR |ClXpelof sl st sA NS 18H7| 454 3 0 0 800,000 2,400,000 2,400,000
Alstof SR |ClXtelof sl st A NS 2847| 45t 59 0 0 4,800,000 283,200,000 283,200,000
R I i o L P 1% B +°401|§7<11 2847| 45t 1 0 0 800,000 800,000 800,000
R I o L P 1% i e Hesh| 45t 4 0 0 140,000 560,000 560,000
R I e o L P 1% i +°401|%7‘11 Hesh| 45t 3 0 0 280,000 840,000 840,000
R I e o L P 1% B e Hesh| 45t 4 0 0 420,000 1,680,000 1,680,000
Alstof SR [CIXtelol &L &t 43—0_401% 1 01 537| 454 2 0 0 140,000 280,000 280,000
Alstof SR [CIXtelol &L &t S0 =X 1 01 537| 454 3 0 0 280,000 840,000 840,000
Alstoy sHE [CXtelof =ch &t S0 =X 1 01 537| 454 6 0 0 420,000 2,520,000 2,520,000
At st |2 2YHH| =L ALCfE = | of 53} 157] 15H4 67 348,480 23,348,160 3,750,000 251,250,000 274,598,160
At st |2 2YHH| =L ALCfE =X of stzf 157] 15H4 1 348,480 348,480 625,000 625,000 973,480
At st |2 2YHH| =L ALCfE = | of 53} 2847| 15H4 1 0 0 1,875,000 1,875,000 1,875,000
At st |2 2YHH| =L ALCfE = | of 53} 2847| 15H4 59 0 0 3,750,000 221,250,000 221,250,000
At st |2 2YHH| =L ALCfE = | of 53} 2847| 15H4 1 348,480 348,480 3,750,000 3,750,000 4,098,480
At &R |2 2YHH| =L ALCfE} = | of 5o} A28 15H4 1 0 0 140,000 140,000 140,000
At stE |2 2YHH| =L ALCfE} = | of 5o} =il 15H4 1 0 0 140,000 140,000 140,000
At &R |2 2YHH| =L ALCfE} =M of 53} 1547] 2stid 1 0 0 1,875,000 1,875,000 1,875,000
At st |2 2YHH| =L ALCfE} =M of 53} 1547] 25t 45 0 0 3,750,000 168,750,000 168,750,000
At sHE |2 2YHH| =L ALCfE =M of 53} 2847| 25t 45 0 0 3,750,000 168,750,000 168,750,000
At sHE |2 2YHH| =L ALCfE = H| 0f 5o} =il 25t 1 0 0 280,000 280,000 280,000
At st |2 2YHH| =L ALCfE} =M of 53} 1547] 384 50 0 0 3,750,000 187,500,000 187,500,000
At sHE |2 2YHH| =L ALCfE} =M of 53} 1547] 384 4 348,480 1,393,920 3,750,000 15,000,000 16,393,920
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Al stE |2 2YHd| =L AL st stof 3stid 0 0 3,750,000 191,250,000 191,250,000
Al stE |2 2YHH| =L AL st stof 3stid 1 0 0 420,000 420,000 420,000
Al stE |2 2YHH| =L AL st stof 3stid 2 0 0 140,000 280,000 280,000
Al stE |2 2YHH| =L AL st st} 18 45t 2 0 0 1,250,000 2,500,000 2,500,000
Alsiof st |2 2YHH| =L ALCfE stof 1517| 45t 66 0 0 3,750,000 247,500,000 247,500,000
Alsiof st |2 2YHH| =L ALCfE stof 1517| 45t 1 0 0 625,000 625,000 625,000
Alsiof st |2 2YHH| =L ALCfE stof 25t7| 45t 1 0 0 1,875,000 1,875,000 1,875,000
Alsiof st |2 2YHH| =L ALCfE stof 25t7| 45t 59 0 0 3,750,000 221,250,000 221,250,000
Alsiof st |2 2YHH| =L ALCfE stof 25t7| 45t 3 0 0 625,000 1,875,000 1,875,000
Alsiof st |2 2YHH| =L ALCfE st} HEsH| 45t 1 0 0 140,000 140,000 140,000
Alsiof st |2 2YHH| =L ALCfE st} HEsH| 45t 1 0 0 420,000 420,000 420,000
Alsiof st |2 2YHH| =L ALCfE st} o{E35t7| 45t 2 0 0 140,000 280,000 280,000
Aot st | RYHH| =L ACHE i 01 537| 454 1 0 0 280,000 280,000 280,000
Aot st | RYHH| =L ACHE i 01 537| 454 1 0 0 560,000 560,000 560,000
Alst) stR | Z2YHH[ =L ALC S H oA o st} 18H7| 15h4 111 3,750,000 416,250,000 454,931,280
Alst) stR | Z2YHH[ =L ALC S t%wgeszmr 28t7| 15h4 94 3,750,000 352,500,000 352,500,000
Alst) stR | Z2YHH[ =L ALC S &4 dstnt 28t7| 15h4 1 362,500 -362,500 -362,500
Alst) stR | Z2YHH[ =L ALC S &4 dstnt 28t7| 15h4 1 3,750,000 3,750,000 4,098,480
Alst) stR | Z2YHH[ =L ALC S &4 dstnt HEE7| 15h4 1 0 0 140,000 140,000 140,000
Alst) stR | Z2YHH[ =L ALC S :gwt%gegzmr 0 E357| 15h4 1 0 0 420,000 420,000 420,000
Alst) stR | Z2YHH[ =L AC S 22 o skt 18H7| 28td 1 0 0 2,812,500 2,812,500 2,812,500
Alst) stR | Z2YHH[ =L ALC S YA g stat 18H7| 28td 118 0 0 3,750,000 442,500,000 442,500,000
Alst) stR | Z2YHH[ =L ALC S 24 dstnt 18H7| 28td 1 0 0 4,800,000 4,800,000 4,800,000
Alst) stR | Z2YHH[ =L ALC S 22t o skt 18H7| 28td 1 0 0 937,500 937,500 937,500
At st |2 2YHH| =L ALCfE a%wg%azmr 2847| 2stid 110 0 0 3,750,000 412,500,000 412,500,000
Alst) R | Z2YHH[ =L ACE ﬂ%;zg%azmr 28t7| 28t 2 0 0 937,500 1,875,000 1,875,000
At st |2 2YHH| =L ALCfE A stat Hesh| 2stid 1 0 0 140,000 140,000 140,000
At st |2 2YHH| =L ALCfE Ay stat Hesh| 2stid 2 0 0 420,000 840,000 840,000
At st |2 2YHH| =L ALCfE a%wg%azmr 157] 3stid 126 0 0 3,750,000 472,500,000 472,500,000
Alst) R | Z2YdH[ =L ACE :Et“ﬂ%*?é%*i*ﬂr 18H7| 384 1 0 0 4,850,000 4,850,000 4,850,000
At st |2 2YHH| =L ALCfE Ay stat 157] 3stid 1 0 0 937,500 937,500 937,500
At st |2 2YHH| =L ALCfE Ay stat 157] 3stid 13 3,750,000 48,750,000 53,280,240
At st |2 2YHH| =L ALCfE A stat 2847| 3stid 0 0 3,750,000 528,750,000 528,750,000
Alst) R | Z2YdH[ =L ACE :Et“ﬂ%%%*i*ﬂr 28t7| 384 1 0 0 937,500 937,500 937,500
At st |2 2YHH| =L ALCfE Ay stat Hesh| 3stid 2 0 0 280,000 560,000 560,000
At st |2 2YHH| =L ALCfE Ay stat Hesh| 3stid 1 0 0 420,000 420,000 420,000
At &R |2 2YHH| =L ALCfE} A8y stat 0{E35t7| 384 1 0 0 280,000 280,000 280,000
At stE |2 2YHH| =L ALCfE} Ay stat 0{E35t7| 384 3 0 0 420,000 1,260,000 1,260,000
At &R |2 2YHH| =L ALCfE} Ay stat 0{E35t7| 384 1 0 0 560,000 560,000 560,000
At st |2 2YHH| =L ALCfE} 4 stat 1547] 45t 1 0 0 1,250,000 1,250,000 1,250,000
At sHE |2 2YHH| =L ALCfE R i 1547] 45t 1 0 0 1,875,000 1,875,000 1,875,000
At sHE |2 2YHH| =L ALCfE JEH*EJ%%%?QEP 1547] 45t 151 0 0 3,750,000 566,250,000 566,250,000
At st |2 2YHH| =L ALCfE} A8y stat 1547] 45t 1 0 0 625,000 625,000 625,000
At sHE |2 2YHH| =L ALCfE} A8y stat 2847| 45t 1 0 0 1,250,000 1,250,000 1,250,000
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Alsiof st |2 2YHH| =L ALCfE SEHaRZ s 25t7| 45t 125 0 0 3,750,000 468,750,000 468,750,000
Alsiof st |2 2YHH| =L ALCfE SEHaRZ s 25t7| 45t 1 0 0 625,000 625,000 625,000
Alsiof &R |2 2YHH| =L ALCfE SEHaRZ s HE3sh| 45t 1 0 0 140,000 140,000 140,000
Alsiof st |2 E2YHH| =L ALCfE SEHaRZ s HE3sh| 45t 2 0 0 280,000 560,000 560,000
Alsiof st |2 2YHH| =L ALCfE e e e i HE3sh| 45t 1 0 0 420,000 420,000 420,000
Alsiof st |2 2YHH| =L ALCfE e e e i HEsh| 45t 2 0 0 560,000 1,120,000 1,120,000
Alsiof st |2 2YHH| =L ALCfE S=2HaAd A5t o{E35t7| 45t 1 0 0 140,000 140,000 140,000
Alsiof st |2 2YHH| =L ALCfE S=2HaAF g5t o{E35t7| 45t 4 0 0 280,000 1,120,000 1,120,000
Alsiof st |2 2YHH| =L ALCfE S=2HaAF A5t o{E35t7| 45t 1 0 0 420,000 420,000 420,000
Alsiof st |2 2YHH| =L ALCfE S=2HaAF A5t o{E35t7| 45t 1 0 0 560,000 560,000 560,000
Alsiof st |2 2YHH| =L ALCfE S2HEMNF A5 T 1517| 15H4 1 348,480 348,480 1,250,000 1,250,000 1,598,480
Alsiof st |2 2YHH| =L ALCfE S2HEMNF A5 T 1517| 15H4 1 348,480 348,480 1,875,000 1,875,000 2,223,480
Alsto) &t | ZE2Yd| =Y ACf s} S2HEMNFH5 T 1547] 15H4 95 348,480 33,105,600 3,750,000 356,250,000 389,355,600
Alst) stR | Z2YHH[ =L ALC S ==2HsAA s 28t7| 15h4 1 0 0 1,250,000 1,250,000 1,250,000
Alst) stR | Z2YHH[ =L ALC S ==2HsAA s 28t7| 15h4 85 0 0 3,750,000 318,750,000 318,750,000
Alsto) &t | ZEYd| =Y ACf s} S2HEMNF A5 T 2847| 15H4 3 348,480 1,045,440 3,750,000 11,250,000 12,295,440
At stE S 2Yd| =LA S} ==2HsAA Y s 01 537| 15h4 1 0 0 280,000 280,000 280,000
Alst) stR | Z2YHH[ =L ALC S ==2HsAA Y s 18H7| 28td 1 0 0 1,875,000 1,875,000 1,875,000
Alst) stR | Z2YHH[ =L ALC S ==2HsAA G s 18H7| 28td 1 0 0 3,675,000 3,675,000 3,675,000
Alsto) &t | ZEYd| =Y ACf s} S2HEMNF A5 T 1547] 2stiA 115 0 0 3,750,000 431,250,000 431,250,000
Alst) stR | Z2YHH[ =L AC S ==2HsAA Y s 18H7| 28td 1 0 0 625,000 625,000 625,000
Alst) stR | Z2YHH[ =L ALC S ==2HsAA Y s 18H7| 28td 1 0 0 937,500 937,500 937,500
Alst) stR | Z2YHH[ =L ALC S ==2HsAA s 18H7| 28td 1 348,480 348,480 3,750,000 3,750,000 4,098,480
Alst) stR | Z2YHH[ =L ALC S ==2HsAA s 28t7| 28td 1 0 0 2,812,500 2,812,500 2,812,500
At st |2 2YHH| =L ALCfE SHEANZ AT 2847| 2stid 118 0 0 3,750,000 442 500,000 442 500,000
At st |2 2YHH| =L ALCfE SHEANZ AT Hesh| 2stid 4 0 0 140,000 560,000 560,000
At st |2 2YHH| =L ALCfE S2HEMNF A5 T =il 2stid 1 0 0 560,000 560,000 560,000
At st |2 2YHH| =L ALCfE SHEANZ AT 157] 3stid 151 0 0 3,750,000 566,250,000 566,250,000
At st |2 2YHH| =L ALCfE SHEANZ AT 157] 3stid 1 0 0 937,500 937,500 937,500
At st |2 2YHH| =L ALCfE SHEANZ AT 157] 3stid 11 348,480 3,833,280 3,750,000 41,250,000 45,083,280
At st |2 2YHH| =L ALCfE SHEANZ AT 2847| 3stid 1 0 0 1,250,000 1,250,000 1,250,000
At st |2 2YHH| =L ALCfE SHEANZ AT 2847| 3stid 1 0 0 2,812,500 2,812,500 2,812,500
At st |2 2YHH| =L ALCfE SHEANZ AT 2847| 3stid 151 0 0 3,750,000 566,250,000 566,250,000
At st |2 2YHH| =L ALCfE SHEANZ AT 2847| 3stid 1 0 0 937,500 937,500 937,500
At st |2 2YHH| =L ALCfE SHEANZ AT 2847| 3stid 5 348,480 1,742,400 3,750,000 18,750,000 20,492,400
At st |2 2YHH| =L ALCfE SHEANZ AT Hesh| 3stid 1 0 0 140,000 140,000 140,000
At &R |2 2YHH| =L ALCfE} S2HEMNF A5 T A28 384 1 0 0 280,000 280,000 280,000
At stE |2 2YHH| =L ALCfE} S2HEMNF A5 A28 384 2 0 0 420,000 840,000 840,000
At &R |2 2YHH| =L ALCfE} S2HEMNF A5 0{E35t7| 384 2 0 0 140,000 280,000 280,000
At st |2 2YHH| =L ALCfE} S2HEMNF A5 0{E 57| 384 2 0 0 280,000 560,000 560,000
At sHE |2 2YHH| =L ALCfE S2HEMNF A5 T o{E 57| 384 1 0 0 560,000 560,000 560,000
At sHE |2 2YHH| =L ALCfE SEHEMNZIST] 1547] 45t 2 0 0 1,875,000 3,750,000 3,750,000
At st |2 2YHH| =L ALCfE} SEHEMNZIST 1547] 45t 170 0 0 3,750,000 637,500,000 637,500,000
At sHE |2 2YHH| =L ALCfE} SEHEMNZIET 1547] 45t 3 0 0 625,000 1,875,000 1,875,000
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_ _ _ _ _ olsF Aolg _

T2 Cist/A <™ stop(£)g s7|(Hd) | 8hd | stMS Tolcy ggrg_rn = 1ol c} ¢gETﬁ FAR 2tA
Alstci HR D Apolol sy st DUIABXMZ 25t7| 15H4 18 0 0 4,800,000 86,400,000 86,400,000
Alstci HR D Apolol sy st DUIABXMZ 1517| 2stid 15 0 0 4,800,000 72,000,000 72,000,000
Alshci SHR D Apolol sy st DUIABXMZ 1517| 2stid 1 0 0 800,000 800,000 800,000
Alshci sHR D Apolol oy st DUIABXMZ 25t7| 2stid 14 0 0 4,800,000 67,200,000 67,200,000
Alshci sHR D Apolol Sy st DUIABXMZ 1517| 3stid 7 0 0 4,800,000 33,600,000 33,600,000
Alshci sHR D Apolol Sy st DUIABIMZ 25t7| 3stid 6 0 0 4,800,000 28,800,000 28,800,000
Alstof s | ALS|BpEbC) & ojC|of A 2 5ta} 1517| 15H4 40 348,480 13,939,200 3,750,000 150,000,000 163,939,200
Alstof s (ALS|BhEC) E ojC|of A 2 5ta} 25t7| 15H4 36 0 0 3,750,000 135,000,000 135,000,000
Alstof s ALS|BhEC) & ojC|o{ A 25t3} 25t7| 15H4 1 0 0 625,000 625,000 625,000
Alstof s ALS|BhEC) & ojC|o{ A 25t3} 1517| 2stid 34 0 0 3,750,000 127,500,000 127,500,000
Alstof s ALS|BhEC) & ojC|o{ A 25t3} 1517| 2stid 1 0 0 4,800,000 4,800,000 4,800,000
Alstof s ALS|BhEC) & ojC|o{ A 25t3} 25t7| 2stid 31 0 0 3,750,000 116,250,000 116,250,000
= e P o = o T ojcjojed 253} 28t7| 28td 1 0 0 625,000 625,000 625,000
= e P o = o T ojcjojed 253} 18H7| 384 1 0 0 1,875,000 1,875,000 1,875,000
= e P o = o T ojcjojed 25ta} 18H7| 384 36 0 0 3,750,000 135,000,000 135,000,000
= e P o = T ojcjojed 253} 18H7| 384 3 348,480 1,045,440 3,750,000 11,250,000 12,295,440
= e P o = T ojcjojed 253} 28t7| 384 39 0 0 3,750,000 146,250,000 146,250,000
= = P o =t T o|cjojd = stn} 0 E357| 384 1 0 0 140,000 140,000 140,000
= e P o =t o T ojcjojed 25ta} 18H7| 454 1 0 0 1,875,000 1,875,000 1,875,000
= e P o = T ojcjojed 25ta} 18H7| 454 42 0 0 3,750,000 157,500,000 157,500,000
= e P o = T ojcjojed 253} 18H7| 454 2 0 0 625,000 1,250,000 1,250,000
= e P o = T ojcjojed 253} 28t7| 454 1 0 0 1,875,000 1,875,000 1,875,000
= e P o = T ojcjojed 253} 28t7| 454 30 0 0 3,750,000 112,500,000 112,500,000
= e P o = o T ojcjojed 253} 28t7| 454 2 0 0 625,000 1,250,000 1,250,000
AlSHo) SHRE [AbS| mhEtol & o|cjojd =&t} HE257| 454 1 0 0 140,000 140,000 140,000
AlSHo) SHRE [Abs| Tt & o|cjojd =&t} HE257| 454 1 0 0 280,000 280,000 280,000
AlSHo) SHRE [Abs| Tt & o|cjojd =&t} HE257| 454 1 0 0 560,000 560,000 560,000
ASHoH SHE |AbS| BhEtOl & o|cjojd =&t} 0 E387| 454 1 0 0 560,000 560,000 560,000
Alstof st [Ho| @ MEf AT & HIO| A ZMANMS 157] 15H4 20 348,480 6,969,600 4,550,000 91,000,000 97,969,600
Alstof st [Hlo| @ MEf ALY & HIO| A ZMANMS 2847| 15H4 17 0 0 4,550,000 77,350,000 77,350,000
Alsto) R |Hio| @ MEf AT & Hio|Al EAANME 18H7| 28t4 13 0 0 4,550,000 59,150,000 59,150,000
Alstof st [Ho| @ MEf AT & HIO| A ZMANMS 2847| 2stid 10 0 0 4,550,000 45,500,000 45,500,000
Alstof st [Hlo| @ MEf E ALY & HIO| A ZMANMS 157] 3stid 10 0 0 4,550,000 45,500,000 45,500,000
Alstof st [Ho| @ MEf AT & HIO| A ZMANMS 2847| 3stid 10 0 0 4,550,000 45,500,000 45,500,000
Alstof st [Hlo| @ MEf ALY & ghARM Stot 157] 15H4 1 0 0 1,516,667 1,516,667 1,516,667
Alstof st [Hlo| @ MEf ALY & ghALM 5ot 157] 15H4 67 348,480 23,348,160 4,550,000 304,850,000 328,198,160
At a2 [Ho| @ MEf AT 5 N 2847| 15H4 62 0 0 4,550,000 282,100,000 282,100,000
At a2 [Hlo| @ MEf AT 5 ghALM 5ot A28 15H4 2 0 0 140,000 280,000 280,000
At a2 [Ho| @ MEf AT 5 ghALM 5ot A28 15H4 1 0 0 280,000 280,000 280,000
At sHE [Ho| @ MEf AT 5 grALM 5ot =il 15H4 2 0 0 140,000 280,000 280,000
At sHE [Ho| @ MEf AT 5 N 1547] 25t 67 0 0 4,550,000 304,850,000 304,850,000
At a2 [Ho| @ MEf AT 5 N 1547] 25t 1 0 0 758,333 758,333 758,333
At sHE [Ho| @ MEf AT 5 N 1547] 25t 1 348,480 348,480 4,550,000 4,550,000 4,898,480
At a2 [Ho| @ MEf AT 5 N 2847| 25t 66 0 0 4,550,000 300,300,000 300,300,000
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Alsiof st [Ho| @ MEf AT & grApM BFof o{E35t7| 2stiA 1 0 0 420,000 420,000 420,000
Alsiof st [Ho| @ MEf AT & grApM BFof 1517| 3stid 57 0 0 4,550,000 259,350,000 259,350,000
Alstof st [Hio| @ MEf AT & grApM Btof 1517| 3stid 4 348,480 1,393,920 4,550,000 18,200,000 19,593,920
Alstof s [Hio| @ MEf EZACH & grApM BFof 25t7| 3stid 55 0 0 4,550,000 250,250,000 250,250,000
Alstof s [HO| @ MEf EZACH & grApM BFof HEsH| 3stid 1 0 0 420,000 420,000 420,000
Alsiof st [Ho| @ MEf E AT & grApM BFof o{E35t7| 3stid 1 0 0 280,000 280,000 280,000
Alstof s [Ho| @ MEf AT & grApM BFof 1517| 45t 2 0 0 1,516,667 3,033,334 3,033,334
Alstof st [Ho| @ MEf AT & grApM BFof 1517| 45t 71 0 0 4,550,000 323,050,000 323,050,000
Alsiof st [Ho| @ MEf AT & grApM BFof 1517| 45t 1 0 0 758,330 758,330 758,330
Alsiof st [Ho| @ MEf AT & grApM BFof 1517| 45t 6 348,480 2,090,880 4,550,000 27,300,000 29,390,880
Alsiof st [Ho| @ MEf AT & grApM BFof 25t7| 45t 1 0 0 2,275,000 2,275,000 2,275,000
Alsiof st [Ho| @ MEf AT & grApM BFof 25t7| 45t 80 0 0 4,550,000 364,000,000 364,000,000
Alstoy stR |Hio| @ MEf 2 24Ch 5t SFARM S} HEE7| 454 4 0 0 140,000 560,000 560,000
Alsto) stR [Hio| @ MEf 2 24Ch 5t SFARM S} HEE7| 454 2 0 0 420,000 840,000 840,000
Alstoy stR [Hio| @ MEf 2 24Ch 5t SFARM S} e 454 1 0 0 560,000 560,000 560,000
Alstoy stR [Hio| @ MEf 2 24Ch 5t SFARM ST} 01 537| 454 2 0 0 280,000 560,000 560,000
Alstoy stR [Hio| @ MEf 2 24Ch 5t FEEANME 18H7| 15h4 1 0 0 1,516,667 1,516,667 1,516,667
Alstof st [Ho| @ MEf AT & HEIEANS 1547] 15H4 41 348,480 14,287,680 4,550,000 186,550,000 200,837,680
Alstof st [Ho| @ MEf AT & HEIEANS 2847| 15H4 34 0 0 4,550,000 154,700,000 154,700,000
Alstoy stR [Hio| @ MEf 2 24Ch 5t FEEANME HEE7| 15h4 2 0 0 280,000 560,000 560,000
Alsto) stR [Hio| @ MEf 2 24Ch 5t FEEANMS 18H7| 28td 4 0 0 3,750,000 15,000,000 15,000,000
Alstof st [Ho| @ MEf AT & HEIEANS 1547] 2stiA 41 0 0 4,550,000 186,550,000 186,550,000
Alstof st [Ho| @ MEf AT & HEIEANS 2847| 2stiA 49 0 0 4,550,000 222,950,000 222,950,000
Alstoy stR [Hio| @ MEf 2 24Ch 5t FEEANMS HEE7| 28td 1 0 0 140,000 140,000 140,000
Alstof st [Hlo| @ MEf ALY & HE[Z@ANS o{E35t7| 2stid 1 0 0 280,000 280,000 280,000
Alstof st [Ho| @ MEf AT & HE[Z@ANS o{E35t7| 2stid 1 0 0 560,000 560,000 560,000
Alstof st [Hlo| @ MEf E ALY & HE|dANZ 157] 3stid 36 0 0 4,550,000 163,800,000 163,800,000
Alstof st [Hlo| @ MEf E ALY & HE|HANZ 157] 3stid 8 348,480 2,787,840 4,550,000 36,400,000 39,187,840
Alstof st [Ho| @ MEf AT & HE|HANZ 2847| 3stid 46 0 0 4,550,000 209,300,000 209,300,000
Alstof st [Hlo| @ MEf ALY & HE|HANZ 2847| 3stid 2 348,480 696,960 4,550,000 9,100,000 9,796,960
Alstof st [Hlo| @ MEf ALY & HE|HANZ 157] 45t 1 0 0 1,516,660 1,516,660 1,516,660
Alstof st [Ho| @ MEf AT & HE|dANZ 157] 45t 41 0 0 4,550,000 186,550,000 186,550,000
Alstof st [Hlo| @ MEf E ALY & HE|HANZ 2847| 45t 34 0 0 4,550,000 154,700,000 154,700,000
Alstof st [Ho| @ MEf AT & HEIEANS Hesh| 45t 1 0 0 280,000 280,000 280,000
Alsty R (3EY| &8 s AO|HE B R T ALSH D} 18H7| 15h4 19 348,480 6,621,120 4,850,000 92,150,000 98,771,120
Alsty R (3EY| &8 s AO|HE B R T ALSH D} 18H7| 15h4 1 348,480 348,480 808,333 808,333 1,156,813
Alsto) &2 |35y & 8§l e ALO|H EE2 R FAS T} 2847| 15H4 19 0 0 4,850,000 92,150,000 92,150,000
Alstoh &2 |3isY| s 8§ S ALO|H EE2 R FAS T} 015357 15H4 1 0 0 140,000 140,000 140,000
Alsto) &2 |3isho| & 8§ s ALO|H EE2 R FAS T} 1547] 2stid 19 0 0 4,850,000 92,150,000 92,150,000
Alsto) &2 |35y | & 8§ e ALO|H EE R FALS T} 2847| 25t 20 0 0 4,850,000 97,000,000 97,000,000
At st (IE7| & 8 & ALO|H EE R FALS T} 1547] 384 19 0 0 4,850,000 92,150,000 92,150,000
Alsto) &2 |3ishy| & 8§ e ALO|H EE2 R FALSH T} 2847| 384 19 0 0 4,850,000 92,150,000 92,150,000
Alstof SR |ALS| 2pEbCY & At =X 53} 1547] 15H4 1 348,480 348,480 1,250,000 1,250,000 1,598,480
Alstof SR | ALS| 2pEbCY & At =X 53} 1547] 15H4 77 348,480 26,832,960 3,750,000 288,750,000 315,582,960
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= e P o B = Als| x| 5t} 25t7| 15H4 73 0 0 3,750,000 273,750,000 273,750,000
Alstof s ALS|BhEC) & Als| x| 53} HEsH| 15H4 2 0 0 280,000 560,000 560,000
= e P o = g T Als| x| 5t} 1517| 2stid 70 0 0 3,750,000 262,500,000 262,500,000
= e P o = g T Als| x| 5t} 25t7| 2stid 64 0 0 3,750,000 240,000,000 240,000,000
Alstof s |ALS|BpEbCY & Als| x| 5t} 1517| 3stid 70 0 0 3,750,000 262,500,000 262,500,000
= e P o = g T Als| x| 53} 1517| 3stid 3 348,480 1,045,440 3,750,000 11,250,000 12,295,440
= e P o =t T Als| x| 53} 25t7| 3stid 70 0 0 3,750,000 262,500,000 262,500,000
Alstof s (ALS|BhEC) E Alts| x| 53} HEsH| 3stid 1 0 0 280,000 280,000 280,000
= e P o B = Als| x| 5t} 1517| 45t 95 0 0 3,750,000 356,250,000 356,250,000
= e P o B = Als| x| 5t} 25t7| 45t 85 0 0 3,750,000 318,750,000 318,750,000
Alstof s ALS|BhEC) & Als| x| 5t} 25t7| 45t 1 0 0 625,000 625,000 625,000
Alstof s ALS|BhEC) & Als| x| 5t} HEsH| 45t 2 0 0 140,000 280,000 280,000
Alstof s |ALS| BpEbCY & Alts| x| 5t} o{E35t7| 45t 2 0 0 420,000 840,000 840,000
Alstof s |ALS| BpEbCY & Alts| x| 5t} o{E35t7| 45t 1 0 0 560,000 560,000 560,000
Alstof SR |ClXtelof sl st AAC|XRIM S 15H7| 2stiA 1 0 0 3,750,000 3,750,000 3,750,000
Alstof SR |ClXtelof sl st AAC|XRIM S 1547] 2stiA 42 0 0 4,800,000 201,600,000 201,600,000
Alstof SR |ClXtelof sl st MeAC Rl ME 2847| 2stiA 38 0 0 4,800,000 182,400,000 182,400,000
Alstof SR |ClXtelof sl st AAC|XRIM S 25t7| 2stiA 1 0 0 800,000 800,000 800,000
Alstof SR |ClXtelof sl st MAC|ARIM S 0 E357| 28td 1 0 0 140,000 140,000 140,000
Alstof SR |ClXtelof sl st A gl ﬂ&lﬁg— 1547] 384 33 0 0 4,800,000 158,400,000 158,400,000
Alstof SR |ClXtelof sl st QAL Xl M S 1547] 3stid 8 348,480 2,787,840 4,800,000 38,400,000 41,187,840
Alstof SR |ClXpelof sl st QAL Xl M S 2847| 3stid 39 0 0 4,800,000 187,200,000 187,200,000
Alstof SR |ClXpelof sl st MAC|ARIM S 0 E37| 384 2 0 0 140,000 280,000 280,000
Alstof SR |ClXtelof sl st MAC|ARIM S 0 E37| 384 1 0 0 280,000 280,000 280,000
R I i o L P 1% B AAC|RRIM S 157] 45t 53 0 0 4,800,000 254,400,000 254,400,000
= e = PN e MAC|ARIM S 18H7| 454 1 0 0 800,000 800,000 800,000
R I e o L P 1% i AAC|RRIM S 2847| 45t 51 0 0 4,800,000 244,800,000 244,800,000
At s |C|Xpelof &Ch & AAC|RRIM S o{E35t7| 45t 2 0 0 140,000 280,000 280,000
Alsty R (3EY| &8 s M FAR = 5ot 18H7| 15h4 37 348,480 12,893,760 4,850,000 179,450,000 192,343,760
Alsty SR (3EV| & 88 & M FAR = 5ot 28t7| 15h4 28 0 0 4,850,000 135,800,000 135,800,000
Alsty R (3EV| & 88 & M FAR = 5o} HE257| 15h4 1 0 0 280,000 280,000 280,000
Alsty R (3EV| & 88 & M FAR = 5ot 18H7| 28t 27 0 0 4,850,000 130,950,000 130,950,000
Alsty R (3EV| & 88 & *%ﬁiH%zﬂr 28t7| 28t4 28 0 0 4,850,000 135,800,000 135,800,000
Alsty SR (3EV| & 88 & M FAR = 5ot HE257| 28t4 1 0 0 420,000 420,000 420,000
Alsty R (3EY| &8 s g%mug—am o{E35t7| 28t4 1 0 0 140,000 140,000 140,000
Alsty R (3EY| &8 s M FAR = 5o} 18H7| 384 1 0 0 2,425,000 2,425,000 2,425,000
Alsto) &2 |35y & 8§l e Heaxi=stnt 1547] 384 27 0 0 4,850,000 130,950,000 130,950,000
Alsto) &2 |35y & 8§ e Heaxi=stnt 1547] 384 2 348,480 696,960 4,850,000 9,700,000 10,396,960
Alsto) &2 |3isho| & 8§ s Heaxi=stnt 2847| 384 28 0 0 4,850,000 135,800,000 135,800,000
Alsto) &2 |35y | & 8§ e HFAax=shat HE287| 384 1 0 0 280,000 280,000 280,000
Alsto) &2 |35y & 8§ e HFax=stnt o{E 57| 384 1 0 0 420,000 420,000 420,000
At st (IE7| s 8l & Heaxi=sstnt 1547] 45t 24 0 0 4,850,000 116,400,000 116,400,000
At st (IE7| &8 & Heaxi=stnt 2847| 45t 23 0 0 4,850,000 111,550,000 111,550,000
At st (IE7| s 8l & Heaxi=stnt =il 45t 1 0 0 560,000 560,000 560,000
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Alsiof st [Ho| @ MEf AT & AlEdUSME 1517| 2stiA 35 0 0 4,550,000 159,250,000 159,250,000
Alsiof st [Ho| @ MEf AT & AlEdUSME 1517| 2stid 1 0 0 4,850,000 4,850,000 4,850,000
Alstof st [Hio| @ MEf AT & AlEdUSME 25t7| 2stid 35 0 0 4,550,000 159,250,000 159,250,000
Alstof s [Hio| @ MEf EZACH & AlEd UM S HEsH| 2stid 1 0 0 140,000 140,000 140,000
Alstof s [HO| @ MEf EZACH & AlEd UM S HEsH| 2stid 1 0 0 280,000 280,000 280,000
Alsiof st [Ho| @ MEf E AT & AlEd UM E 1517| 3stid 37 0 0 4,550,000 168,350,000 168,350,000
Alstof s [Ho| @ MEf AT & AlEd UM E 1517| 3stid 5 348,480 1,742,400 4,550,000 22,750,000 24,492,400
Alstof st [Ho| @ MEf AT & AlEdUSME 25t7| 3stid 40 0 0 4,550,000 182,000,000 182,000,000
Alsiof st [Ho| @ MEf AT & AlEd UM S HEsH| 3stid 1 0 0 140,000 140,000 140,000
Alsiof st [Ho| @ MEf AT & AlEd UM S o{E35t7| 3stid 1 0 0 140,000 140,000 140,000
Alsiof st [Ho| @ MEf AT & AlEdUSME o{E35t7| 3stid 1 0 0 280,000 280,000 280,000
Alsiof st [Ho| @ MEf AT & AlEdUSME o{E35t7| 3stid 1 0 0 420,000 420,000 420,000
Alstoy stR |Hio| @ MEf 2 24Ch 5t A EYostME 0 E37| 384 1 0 0 560,000 560,000 560,000
Alstof st [Ho| @ MEf AT & AlEG UM S 1547] 45t 33 0 0 4,550,000 150,150,000 150,150,000
Alstof st [Ho| @ MEf AT & AlEG UM S 2847| 45t 29 0 0 4,550,000 131,950,000 131,950,000
Alstoy stR [Hio| @ MEf 2 24Ch 5t A EYostME 28t7| 454 1 0 0 758,330 758,330 758,330
Alstoy stR [Hio| @ MEf 2 24Ch 5t Al EYostME e 454 1 0 0 140,000 140,000 140,000
Alsto) stR |Hio| @ MEf 2 24Ch 5t Al EYostME 0 E357| 454 1 0 0 140,000 140,000 140,000
Alsto) stR [Hio| @ MEf 2 24Ch 5t Al E x| ste 18H7| 15h4 1 0 0 4,550,000 4,550,000 4,550,000
Alstoy stR [Hio| @ MEf 2 24Ch 5t Al E x| ste 18H7| 15h4 71 348,480 24,742,080 4,550,000 323,050,000 347,792,080
Alsto) stR [Hio| @ MEf 2 24Ch 5t Al Exe|nste 18H7| 15H4 1 348,480 348,480 758,333 758,333 1,106,813
Alstoy stR |Hio| @ MEf 2 24CH 5t Al Exe|nste 28t7| 15H4 61 0 0 4,550,000 277,550,000 277,550,000
Alstoy stR |Hio| @ MEf 2 24CH 5t Al Exe|nste HEE7| 15h4 1 0 0 280,000 280,000 280,000
Alstoy stR [Hio| @ MEf 2 24Ch 5t oA Es Mg 18H7| 15h4 1 0 0 1,516,667 1,516,667 1,516,667
Alstof st [Hlo| @ MEf ALY & oA ASIH S 157] 15H4 28 348,480 9,757,440 4,550,000 127,400,000 137,157,440
Alstof st [Ho| @ MEf AT & oA ASIH S 2847| 15H4 26 0 0 4,550,000 118,300,000 118,300,000
Alstof st [Hlo| @ MEf E ALY & oA ASIH S 157] 2stid 25 0 0 4,550,000 113,750,000 113,750,000
Alstof st [Hlo| @ MEf E ALY & oA ASIH S 2847| 2stid 22 0 0 4,550,000 100,100,000 100,100,000
Alstof st [Ho| @ MEf AT & oA ASIH S 157] 3stid 22 0 0 4,550,000 100,100,000 100,100,000
Alstof st [Hlo| @ MEf ALY & oA ASIH S 157] 3stid 2 348,480 696,960 4,550,000 9,100,000 9,796,960
Alstof st [Hlo| @ MEf ALY & oA ASIM S 2847| 3stid 23 0 0 4,550,000 104,650,000 104,650,000
Alsto) sHR |Hio| @ MEf AT & oA Es Mg 18H7| 454 2 0 0 1,516,660 3,033,320 3,033,320
Alsto) R |Hio| @ MEj AT & oA Es Mg 18H7| 454 1 0 0 2,275,000 2,275,000 2,275,000
Alstof st [Ho| @ MEf AT & oA ASIH S 157] 45t 30 0 0 4,550,000 136,500,000 136,500,000
Alsto) sHR |Hio| @ MEj AT & oA Es Mg 28t7| 454 1 0 0 1,516,660 1,516,660 1,516,660
Alsto) sHR |Hio| @ MEj AT & oA Es Mg 28t7| 454 1 0 0 2,275,000 2,275,000 2,275,000
At a2 [Ho| @ MEf AT 5 otAASIM S 2847| 45t 29 0 0 4,550,000 131,950,000 131,950,000
At a2 [Hlo| @ MEf AT 5 oA ASIM S 2847| 45t 1 0 0 758,330 758,330 758,330
At a2 [Ho| @ MEf AT 5 oAM= 2847| 45t 3 348,480 1,045,440 4,550,000 13,650,000 14,695,440
At sHE [Ho| @ MEf AT 5 otAASIM S HE357| 45t 1 0 0 420,000 420,000 420,000
At sHE [Ho| @ MEf AT 5 otAASIM S o{E 57| 45t 2 0 0 140,000 280,000 280,000
At a2 [Ho| @ MEf AT 5 otAASIM S o{E 57| 45t 1 0 0 280,000 280,000 280,000
At sHE [Ho| @ MEf AT 5 otAASIM S 0{E 57| 45t 1 0 0 420,000 420,000 420,000
At a2 [Ho| @ MEf AT 5 otAASIM S o{E 57| 45t 1 0 0 560,000 560,000 560,000
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Alstof &2 (TE7| s 88 E ofl L X| £t = 5t 3} 1517| 15H4 30 348,480 10,454,400 4,850,000 145,500,000 155,954,400
Alstof &2 (TE7| s 88 E ofl L X| £t = 5t 3} 1517| 15H4 1 348,480 348,480 808,333 808,333 1,156,813
Alstof &2 (TE7| s 88 E ol L X| £t = 5t3} 25t7| 15H4 1 0 0 2,425,000 2,425,000 2,425,000
Alstof s (TE7| s 88 ol L X| £t = 5t3} 25t7| 15H4 26 0 0 4,850,000 126,100,000 126,100,000
Alsiof &2 (TE7| s 88 E ol L X| £t = 5t3} 1517| 2stid 1 0 0 2,425,000 2,425,000 2,425,000
Alstof &2 (TE7| s 88 ol L X| £t = 5t3} 1517| 2stid 35 0 0 4,850,000 169,750,000 169,750,000
Alstof &2 (TE7| s 88 E ol L X| £t = 5t3} 25t7| 2stid 33 0 0 4,850,000 160,050,000 160,050,000
Alstof &2 (TE7| s 88 E ol L X| £t = 5t3} HEsH| 2stid 1 0 0 140,000 140,000 140,000
Alstof &2 (TE7| s 88 E ofl L X| £t = 5t 3} 1517| 3stid 1 0 0 2,020,834 2,020,834 2,020,834
Alstof &2 (TE7| s 88 E ofl L X| £t = 5t 3} 1517| 3stid 1 0 0 2,425,000 2,425,000 2,425,000
Alstof &2 (TE7| s 88 E ofl L X| £t = 5t 3} 1517| 3stid 1 0 0 2,829,166 2,829,166 2,829,166
Alstof &2 (TE7| s 88 E ofl L X| £t = 5t 3} 1517| 3stid 24 0 0 4,850,000 116,400,000 116,400,000
Aty st (IET| st Et of| L4 X| &t = 5t 18H7| 384 3 348,480 1,045,440 4,850,000 14,550,000 15,595,440
Aty st (IET| st Et of| L4 X| &td = 5t 28t7| 384 26 0 0 4,850,000 126,100,000 126,100,000
Aty st (IET| st Et of| L4 X| &td = 5t 18H7| 454 26 0 0 4,850,000 126,100,000 126,100,000
Aty st (IET | st et of| L4 X| &td = 5t 28t7| 454 27 0 0 4,850,000 130,950,000 130,950,000
Aty st (IET | st et of| L4 X| &td = 5t e 454 1 0 0 420,000 420,000 420,000
Aty st (IET| st Et of| L4 X| &td = 5t 0 E357| 454 1 0 0 560,000 560,000 560,000
Alstof st [Ho| @ MEf AT & Al z=E|MS 1547] 2stiA 32 0 0 4,550,000 145,600,000 145,600,000
Alstof st |Hlo| @ AYE A T &t M xE|NF 2847| 2stiA 36 0 0 4,550,000 163,800,000 163,800,000
Alstof st |HlO| @ AYE A T &t M xE|NF 1547] 3stid 41 0 0 4,550,000 186,550,000 186,550,000
Alstof st [Ho| @ MEf AT & Al z=E|M S 1547] 3stid 4 348,480 1,393,920 4,550,000 18,200,000 19,593,920
Alstof st |HlO| @ AYE A T &t M xE|NB 2847| 3stid 43 0 0 4,550,000 195,650,000 195,650,000
Alstoy stR [Hio| @ MEf 2 24Ch 5t M FEMS HEE7| 384 1 0 0 140,000 140,000 140,000
Alstof st [Hlo| @ MEf ALY & Al zE|MS 157] 45t 31 0 0 4,550,000 141,050,000 141,050,000
Alstof a2 |Hlo| @ AYEf B A T &t A EE|NB 157] 45t 1 0 0 758,330 758,330 758,330
Alstof st [Hlo| @ MEf E ALY & Al zE|MS 2847| 45t 29 0 0 4,550,000 131,950,000 131,950,000
Alstof st [Hlo| @ MEf E ALY & Al zE|MS Hesh| 45t 1 0 0 420,000 420,000 420,000
Alstof st [Ho| @ MEf AT & Al zE|MS =il 45t 1 0 0 140,000 140,000 140,000
Alstof SR ALS| ZpEbCY & Fotu g1} 157] 15H4 66 348,480 22,999,680 3,750,000 247,500,000 270,499,680
Alstof SR ALS| ZpEbCY & Fotu g1} 157] 15H4 2 348,480 696,960 625,000 1,250,000 1,946,960
Alstof SR ALS| ZpEbCY & Fotu g1} 2847| 15H4 63 0 0 3,750,000 236,250,000 236,250,000
AlSHoH sHRE [AbS| TSt & Fotw =31} HE257| 15h4 2 0 0 140,000 280,000 280,000
AlSHo) SHRE [AbS| mhEtol & Fotw =31} 18H7| 28t4 60 0 0 3,750,000 225,000,000 225,000,000
AlSHo) SHRE [AbS| mhEtol & Fotw =31} 18H7| 28t4 1 0 0 625,000 625,000 625,000
AlSHo) SHRE [AbS| mhEtol & Fotw =31} 28t7| 28t4 60 0 0 3,750,000 225,000,000 225,000,000
Alstof SR | ALS| =pEbCy & Fotu g1t A28 2stid 2 0 0 140,000 280,000 280,000
Alstof SR ALS| =pEbCy & Fotu g1t 1547] 384 65 0 0 3,750,000 243,750,000 243,750,000
Alstof SR ALS| mpEbCY & Fotu g1t 1547] 384 5 348,480 1,742,400 3,750,000 18,750,000 20,492,400
Alstof SR |ALS| 2pEbCY & Fotu g1t 2847| 384 70 0 0 3,750,000 262,500,000 262,500,000
Alstof SR |ALS| 2pEbCY & Fotu g1t HE287| 384 2 0 0 280,000 560,000 560,000
Alstof SR ALS| 2pEbCY & Fotu g1t o{E 57| 384 1 0 0 140,000 140,000 140,000
Alstof SR |ALS| 2pEbCY & Fotu g1t 1547] 45t 70 0 0 3,750,000 262,500,000 262,500,000
Alstof SR | ALS| 2pEbCY & Fotu g1t 2847| 45t 67 0 0 3,750,000 251,250,000 251,250,000
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Alstof s ALS|BhEC) & Folu gt o{E35t7| 45t 1 0 0 140,000 140,000 140,000
Alsto st | Abs|2psto st Fotw s} o{E35t7| 45t 1 0 0 280,000 280,000 280,000
Alstof st [Hio| @ MEf AT & ol ateda| &t} 1547] 15H4 97 348,480 33,802,560 4,550,000 441,350,000 475,152,560
Alstof s [Hio| @ MEf EZACH & ol ateda| &t} 25t7| 15H4 89 0 0 4,550,000 404,950,000 404,950,000
Alstof s [HO| @ MEf EZACH & ol ateda| &t} 25t7| 15H4 1 0 0 758,333 758,333 758,333
Alsiof st [Ho| @ MEf E AT & ol ateda| &t} o{E35t7| 15H4 1 0 0 140,000 140,000 140,000
Alstof s [Ho| @ MEf AT & olateda| &t} 1547] 2stid 93 0 0 4,550,000 423,150,000 423,150,000
Alstof st [Ho| @ MEf AT & olateda| &t} 25t7| 2stid 88 0 0 4,550,000 400,400,000 400,400,000
Alsiof st [Ho| @ MEf AT & ol ateda| &t} HEsh| 2stid 2 0 0 280,000 560,000 560,000
Alsiof st [Ho| @ MEf AT & ol ateda| &t} o{E35t7| 2stid 1 0 0 140,000 140,000 140,000
Alsiof st [Ho| @ MEf AT & ol ateda| &t} o{E35t7| 2stid 1 0 0 420,000 420,000 420,000
Alsiof st [Ho| @ MEf AT & ol ateda| &t} 1517| 3stid 94 0 0 4,550,000 427,700,000 427,700,000
Alstof st [Ho| @ MEf AT & olateda| &t} 1547] 3stiA 4 348,480 1,393,920 4,550,000 18,200,000 19,593,920
Alstof st [Ho| @ MEf AT & olateda| &t} 2847| 3stid 95 0 0 4,550,000 432,250,000 432,250,000
Alstoy stR [Hio| @ MEf 2 24Ch 5t ol Ated 2| st} e 384 5 0 0 140,000 700,000 700,000
Alstoy stR [Hio| @ MEf 2 24Ch 5t ol Ated 2| st} 01 537| 384 4 0 0 140,000 560,000 560,000
Alstof st [Ho| @ MEf AT & olateda| &t} 1547] 45t 102 0 0 4,550,000 464,100,000 464,100,000
Alsto) stR |Hio| @ MEf 2 24Ch 5t ol Ated 2| st} 18H7| 454 2 0 0 758,330 1,516,660 1,516,660
Alstof st [Ho| @ MEf AT & olateda| &t} 1547] 45t 9 348,480 3,136,320 4,550,000 40,950,000 44,086,320
Alstoy stR [Hio| @ MEf 2 24Ch 5t ol Ated 2| st} 28t7| 454 1 0 0 1,516,660 1,516,660 1,516,660
Alsto) stR [Hio| @ MEf 2 24Ch 5t ol Ated 2| st} 28t7| 454 1 0 0 2,275,000 2,275,000 2,275,000
Alstof st [Ho| @ MEf AT & olateda| &t} 2847| 45t 115 0 0 4,550,000 523,250,000 523,250,000
Alstoy stR |Hio| @ MEf 2 24CH 5t ol Ated 2| st} HEE7| 454 6 0 0 140,000 840,000 840,000
Alstoy stR [Hio| @ MEf 2 24Ch 5t ol Ated 2| st} HEE7| 454 6 0 0 280,000 1,680,000 1,680,000
Alsto) sHR |Hio| @ MEj AT & ol Ated | st} HE257| 454 4 0 0 420,000 1,680,000 1,680,000
Alstof st [Ho| @ MEf AT & olateda| &t} =il 45t 4 0 0 140,000 560,000 560,000
Alstof st [Hlo| @ MEf E ALY & olateda| &t} =il 45t 10 0 0 280,000 2,800,000 2,800,000
Alstof st [Hlo| @ MEf E ALY & olateda| &t} =il 45t 1 0 0 420,000 420,000 420,000
Alstof st [Ho| @ MEf AT & olateda| &t} =il 45t 1 0 0 560,000 560,000 560,000
At st (TE7| £ 88 PN 157] 2stid 21 0 0 4,850,000 101,850,000 101,850,000
At st ([TE7| s 88 PN 2847| 2stid 24 0 0 4,850,000 116,400,000 116,400,000
At st (IE7| £ 88 E HAISEN S Hesh| 2stid 1 0 0 280,000 280,000 280,000
Alsty R (3EV| & 88 & MRS N E 18H7| 384 1 0 0 2,425,000 2,425,000 2,425,000
Alsty R (3EY| &8 s MRS N E 18H7| 384 28 0 0 4,850,000 135,800,000 135,800,000
Ao st (IE7 | s S8 E PN 157] 3stid 1 348,480 348,480 4,850,000 4,850,000 5,198,480
Alsty R (3EY| &8 s MRS N E 28t7| 384 27 0 0 4,850,000 130,950,000 130,950,000
Alsto) &2 |35y & 8§l e PN 0{E35t7| 384 1 0 0 140,000 140,000 140,000
Alsto) &2 |35y & 8§ e PN 0{E35t7| 384 1 0 0 280,000 280,000 280,000
Alsto) &2 |3isho| & 8§ s PN 1547] 45t 23 0 0 4,850,000 111,550,000 111,550,000
Alsto) &2 |35y | & 8§ e PN 2847| 45t 26 0 0 4,850,000 126,100,000 126,100,000
Alsto) &2 |35y & 8§ e PN HE287| 45t 3 0 0 140,000 420,000 420,000
At st 1+§+7|gsg+tH§+ PN HE257| 45t 1 0 0 420,000 420,000 420,000
Alsto) &2 |35y | & 8§ e PN 0{E 57| 45t 1 0 0 280,000 280,000 280,000
At a2 [Ho| @ MEf AT 5 %|7| = &tat 1547] 15H4 64 348,480 22,302,720 4,550,000 291,200,000 313,502,720
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Alsiof st [Ho| @ MEf AT & % 7|5 &nt 25t7| 15H4 0 0 4,550,000 259,350,000 259,350,000
Alsiof st [Ho| @ MEf AT & % 7|5 &nt 25t7| 15H4 348,480 1,045,440 4,550,000 13,650,000 14,695,440
Alstof st [Hio| @ MEf AT & % 7|5 &nt 1517| 2stid 0 0 4,550,000 259,350,000 259,350,000
Alstof s [Hio| @ MEf EZACH & % 7|5 &nt 25t7| 2stid 0 0 4,550,000 282,100,000 282,100,000
Alstof s [HO| @ MEf EZACH & % 7|5 &nt HEsH| 2stid 0 0 420,000 420,000 420,000
Alsiof st [Ho| @ MEf E AT & % 7|5 &nt o{E35t7| 2stid 0 0 140,000 140,000 140,000
Alstof s [Ho| @ MEf AT & % 7|5 &nt 1517| 3stid 0 0 4,550,000 282,100,000 282,100,000
Alstof st [Ho| @ MEf AT & % 7|5 &nt 1517| 3stid 348,480 348,480 1,516,667 1,516,667 1,865,147
Alsiof st [Ho| @ MEf AT & % 7|5 &nt 1517| 3stid 348,480 2,439,360 4,550,000 31,850,000 34,289,360
Alsiof st [Ho| @ MEf AT & % 7|5 &nt 25t7| 3stid 0 0 4,550,000 309,400,000 309,400,000
Alsiof st [Ho| @ MEf AT & % 7|5 &nt o{E35t7| 3stid 0 0 140,000 140,000 140,000
Alsiof st [Ho| @ MEf AT & % 7|5 &nt 1517| 45t 0 0 2,275,000 2,275,000 2,275,000
Alstof st [Ho| @ MEf AT & % 7|5 &t 1547] 45t 0 0 4,550,000 309,400,000 309,400,000
Alstof st [Ho| @ MEf AT & EEE 1547] 45t 348,480 696,960 4,550,000 9,100,000 9,796,960
Alstof st [Ho| @ MEf AT & % 7|5 &t 2847| 45t 0 0 4,550,000 318,500,000 318,500,000
Alstoy stR [Hio| @ MEf 2 24Ch 5t x| 7| =&t e 454 0 0 140,000 280,000 280,000
Alstoy stR [Hio| @ MEf 2 24Ch 5t x| 7| =&t e 454 0 0 420,000 840,000 840,000
Alsto) stR |Hio| @ MEf 2 24Ch 5t x| 7| =&t 01 537| 454 0 0 280,000 280,000 280,000
Alsto) stR [Hio| @ MEf 2 24Ch 5t x| 7| =&t 01 537| 454 0 0 420,000 420,000 420,000
Alstoy stR [Hio| @ MEf 2 24Ch 5t x| 7| =&t 01 537| 454 0 0 560,000 560,000 560,000
Alstof st [Ho| @ MEf AT & %| 2| A &1} 1547] 15H4 348,480 17,424,000 4,550,000 227,500,000 244,924,000
Alstof st [Ho| @ MEf AT & %| 2| A &1} 2847| 15H4 0 0 4,550,000 222,950,000 222,950,000
Alstoy stR |Hio| @ MEf 2 24CH 5t x| 2 A 5t 01 537| 15h4 0 0 280,000 280,000 280,000
Alstof st [HO| @ MEf AT & %| 2| A &1} 1547] 2stiA 0 0 4,550,000 241,150,000 241,150,000
Alstof st [Hlo| @ MEf ALY & %| 2| A &1} 2847| 2stid 0 0 4,550,000 232,050,000 232,050,000
Alstof st [Ho| @ MEf AT & %| 2| A &1} 157] 3stid 0 0 4,550,000 222,950,000 222,950,000
Alstof st [Hlo| @ MEf E ALY & %| 2| A &1} 157] 3stid 348,480 348,480 4,550,000 4,550,000 4,898,480
Alstof st [Hlo| @ MEf E ALY & %| 2| A &1} 2847| 3stid 0 0 4,550,000 227,500,000 227,500,000
Alstof st [Ho| @ MEf AT & %| 2| A &1} 157] 45t 0 0 4,550,000 236,600,000 236,600,000
Alstof st [Hlo| @ MEf ALY & %| 2| A &1} 157] 45t 348,480 348,480 4,550,000 4,550,000 4,898,480
Alstof st [Hlo| @ MEf ALY & %| 2| A &1} 2847| 45t 0 0 4,550,000 236,600,000 236,600,000
Alsto) sHR |Hio| @ MEf AT & x| 2| A 5t HE257| 454 0 0 140,000 140,000 140,000
Alstof st [Hlo| @ MEf E ALY & %| 2| A &1} 015357 45t 0 0 140,000 140,000 140,000
At st (TE7| £ 88 AFRESSHS 157] 2stid 0 0 4,850,000 271,600,000 271,600,000
At st (TE7| £ 88 AFRESSHS 2847| 2stid 0 0 4,850,000 261,900,000 261,900,000
At st (TE7| s 88 & AFRESSHS 157] 3stid 0 0 1,616,667 1,616,667 1,616,667
Alsto) &2 |35y & 8§l e 94“5143—347&14;— 1547] 384 0 0 4,850,000 266,750,000 266,750,000
Alstoh &2 |3isY| s 8§ S FEISSNS 1547] 384 348,480 2,787,840 4,850,000 38,800,000 41,587,840
Alstch &2 |35y | s 8§ S FEISSNE 2847| 384 0 0 4,850,000 266,750,000 266,750,000
At st (IE7| &8 & 94“5148—347&143— HE357| 384 0 0 140,000 140,000 140,000
At st (IE7| & 8 & FEISSNS HE357| 384 1 0 0 420,000 420,000 420,000
At st (IE7| s 8l & FEISSNS o{E 57| 384 1 0 0 140,000 140,000 140,000
At st (IE7| &8 & 94 “5148—347&148— 0{E 57| 384 2 0 0 420,000 840,000 840,000
At st (IE7| s 8l & FEISSNS o{E 57| 384 1 0 0 560,000 560,000 560,000
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= = = T qeg otz glst= 1915t ¢=¢ig TeE

Alstci HR D Apolol sy st 1517| 45t 2 0 0 800,000 1,600,000 1,600,000
Alstci HR D Apolol sy st 25t7| 45t 2 0 0 4,400,000 8,800,000 8,800,000
Alshci SHR D Apolol sy st 25t7| 45t 18 0 0 4,800,000 86,400,000 86,400,000
Alshci sHR D Apolol oy st M o{E35t7| 45t 1 0 0 140,000 140,000 140,000
Alstof s |ALS|BpEbCY & M st 1517| 15H4 40 0 13,939,200 3,750,000 150,000,000 163,939,200
Alstof s (ALS|BpEbC) & Eipsiinly 25t7| 15H4 38 0 0 3,750,000 142,500,000 142,500,000
Alstof s | ALS|BpEbC) & Eipsiinly 1517| 2stid 45 0 0 3,750,000 168,750,000 168,750,000
Alstof s (ALS|BhEC) E Eipsiinly 25t7| 2stid 48 0 0 3,750,000 180,000,000 180,000,000
Alsto st | Abs|2pstol st Eipsiipnly o{E35t7| 2stid 1 0 0 140,000 140,000 140,000
Alstof s ALS|BhEC) & Eipsiipnly 1517| 3stid 39 0 0 3,750,000 146,250,000 146,250,000
Alstof s ALS|BhEC) & Eipsiipnly 1517| 3stid 6 0 2,090,880 3,750,000 22,500,000 24,590,880
Alstof s ALS|BhEC) & Eipsiipnly 25t7| 3stid 42 0 0 3,750,000 157,500,000 157,500,000
AlSHo) sHE [AbS| Tty & A stu} HEE7| 384 2 0 0 140,000 280,000 280,000
AlSHo) sHE [AbS| Tty & A stu} HEE7| 384 1 0 0 280,000 280,000 280,000
= e P o = o T A stu} 18H7| 454 1 0 0 1,875,000 1,875,000 1,875,000
= e P o = T A stu} 18H7| 454 52 0 0 3,750,000 195,000,000 195,000, 000
= e P o = T A stu} 18H7| 454 1 0 0 625,000 625,000 625,000
= = P o =t T A stu} 28t7| 454 1 0 0 1,250,000 1,250,000 1,250,000
= e P o =t o T A stu} 28t7| 454 47 0 0 3,750,000 176,250,000 176,250,000
AlSHoH sHE [AbS| Tty & A stu} HEE7| 454 1 0 0 140,000 140,000 140,000
AlSHoH sHE [AbS| 3ty s A stu} 0 E37| 454 1 0 0 420,000 420,000 420,000
AlSHo) sHE [AbS| Tty & A stu} 0 E37| 454 1 0 0 560,000 560,000 560,000

12,709 617,855,040 53,183,076,557 53,800,931,597
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02547 1 500,000 500,000 5,000,000 5,000,000 5,500,000
H i - 500,000 - 5,000,000 5,500,000
ERE LA 028t 7] 0 0 5,000,000 5,000,000 5,000,000
H - 0 - 5,000,000 5,000,000
- 500,000 - 10,000,000 10,500,000
028t 500,000 4,500,000 4,500,000 40,500,000 45,000,000
048] 0 0 4,500,000 45,000,000 45,000,000
055t 0 0 4,500,000 4,500,000 4,500,000
02817 500,000 1,500,000 5,000,000 15,000,000 16,500,000
04247 0 0 5,000,000 30,000,000 30,000,000
0527 0 0 1,000,000 3,000,000 3,000,000
MBI 2eiysE|  Lsise
Assnz 3 - 6,000,000 - 138,000,000 144,000,000
028D 0 4,500,000 40,500,000 40,500,000
048] 0 0 4,500,000 45,000,000 45,000,000
02547 0 0 5,000,000 10,000,000 10,000,000
045D 0 0 5,000,000 30,000,000 30,000,000
H - - 125,500,000| 125,500,000
- 6,000,000 - 263,500,000| 269,500,000
02547 5 500,000 2,500,000 4,500,000 22,500,000 25,000,000
042D 9 0 0 4,500,000 40,500,000 40,500,000
HUW B

028t 4 500,000 2,000,000 5,000,000 20,000,000 22,000,000
048] 0 0 5,000,000 5,000,000 5,000,000




SE & *=2 _
= = (21) =30 2o olgraoH 2o bl
- 0 0 1,000,000 2,000,000 2,000,000
18D| 0=l 0 0 5,000,000 5,000,000 5,000,000
A - 4,500,000 - 95,000,000 99,500,000
02&tD| 0 4,500,000 13,500,000 13,500,000
048tD| 0 0 4,500,000 31,500,000 31,500,000
AYF2
0| 028D| 0 0 5,000,000 20,000,000 20,000,000
= 0431 0 0 5,000,000 5,000,000 5,000,000
058tJ| 0 0 1,000,000 3,000,000 3,000,000
Al - 0 - 73,000,000 73,000,000
- 4,500,000 - 168,000,000 172,500,000
028t 7| 500,000 1,000,000 4,500,000 9,000,000 10,000,000
N EEL] BT 1847]

Al - 1,000,000 - 9,000,000 10,000,000
DM ¥ HAES - 028tD| 0 0 4,500,000 9,000,000 9,000,000
= p| - 0 - 9,000,000 9,000,000
- 1,000,000 - 18,000,000 19,000,000
028tJ| 500,000 1,000,000 4,500,000 9,000,000 10,000,000
- 03&tJ| 0 0 5,000,000 5,000,000 5,000,000
= 048t 7| 0 0 5,000,000 5,000,000 5,000,000
Al - 1,000,000 - 19,000,000 20,000,000
028tJ| 0 0 4,500,000 9,000,000 9,000,000
2st)| 03sD] 0 0 5,000,000 5,000,000 5,000,000
0431 0 0 5,000,000 5,000,000 5,000,000




- = sha sl 22 "
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284D| Al - 0 - 19,000,000 19,000,000
- 1,000,000 - 38,000,000 39,000,000
028 D] 500,000 500,000 4,500,000 4,500,000 5,000,000
058 7| 0 0 4,500,000 4,500,000 4,500,000
18]

048 D] 0 0 5,000,000 5,000,000 5,000,000
Al - 500,000 - 14,000,000 14,500,000
0 0 100,000~ ~100,000 ~100,000

045 D|
284D| 0 0 5,000,000 5,000,000 5,000,000
Al - 0 - 4,900,000 4,900,000
- 500,000 - 18,900,000 19,400,000
045 D| 0 0 4,500,000 4,500,000 4,500,000

Nty gegsa|  gsgse

0 0 4,500,000 4,500,000 4,500,000

058 D]
0 0 900,000 900,000 900,000
022t)) 500,000 1,000,000 5,000,000 10,000,000 11,000,000
03&)| 5,000,000 5,000,000 5,000,000
181D] 048 D| 0 0 5,000,000 10,000,000 10,000,000

D8

0 0 1,000,000 11,000,000 11,000,000
058 D| 0 0 5,000,000 25,000,000 25,000,000
0 0 5,240,000 5,240,000 5,240,000
068 D] 0 5,000,000 5,000,000 5,000,000
Al - 1,000,000 - 81,140,000 82,140,000
251)) 022t)) 0 0 4,500,000 4,500,000 4,500,000




SE & *=2 _
= = (21) =30 2o g3 2o bl
048tD| 0 0 750,000 750,000 750,000
058tJ| 2 0 0 900,000 1,800,000 1,800,000
02&t7| 2 0 0 5,000,000 10,000,000 10,000,000
- 03&tJ| 1 0 0 5,000,000 5,000,000 5,000,000
MESSIFSEES e 048tD| 2 0 0 5,000,000 10,000,000 10,000,000
058 D| 9 0 0 1,000,000 9,000,000 9,000,000
\ES] 0 0 3,000,000 3,000,000 3,000,000
Al - - 44,050,000 44,050,000
- 1,000,000 - 125,190,000 126,190,000
028t 7] 3 500,000 1,500,000 4,500,000 13,500,000 15,000,000
048t 0| 12 4,500,000 54,000,000 54,000,000
N EEL] BT
2 0 0 2,250,000 4,500,000 4,500,000
- 5 0 0 4,500,000 22,500,000 22,500,000
o 1 0 0 4,740,000 4,740,000 4,740,000
. 0 0 900,000 900,000 900,000
=NZSES = 068 D] 2,250,000 2,250,000 2,250,000
028tD| 500,000 500,000 5,000,000 5,000,000 5,500,000
048t 7| 0 0 5,000,000 10,000,000 10,000,000
0 0 1,000,000 6,000,000 6,000,000
058tD|

0 0 5,000,000 90,000,000 90,000,000
Al - 2,000,000 - 213,390,000 215,390,000
28| 0231] 0 0 4,500,000 13,500,000 13,500,000
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= LY (217]) Al e =a e =o 25l
- 1 0 0 2,250,000 2,250,000 2,250,000
0=l 5 0 0 900,000 4,500,000 4,500,000
068t 7| 1 0 0 900,000 900,000 900,000
- 1 5,000,000 5,000,000 5,000,000
=NZSES o=l 1 500,000 500,000 5,240,000 5,240,000 5,740,000
045D| 2 0 0 5,000,000 10,000,000 10,000,000
058tD| 20 0 0 1,000,000 20,000,000 20,000,000
Al 34 - 500,000 - 61,390,000 61,890,000
86 - 2,500,000 - 274,780,000 277,280,000
028t 7] 3 500,000 1,500,000 4,500,000 13,500,000 15,000,000
048t 0| 3 0 0 4,500,000 13,500,000 13,500,000
AISH LBtifsta L EC
03&tJ| 1 0 0 5,000,000 5,000,000 5,000,000
048tD| 1 0 0 5,000,000 5,000,000 5,000,000
Al 8 - 1,500,000 - 37,000,000 38,500,000
DI [EDAESEE
028t)| 3 0 0 4,500,000 13,500,000 13,500,000
- 3 0 0 4,500,000 13,500,000 13,500,000
o= 1 0 0 5,000,000 5,000,000 5,000,000
A 7 - 0 - 32,000,000 32,000,000
15 - 1,500,000 - 69,000,000 70,500,000
028tJ| 3 500,000 1,500,000 4,500,000 13,500,000 15,000,000
il PNRSES 1 03sD] 2 0 0 4,500,000 9,000,000 9,000,000
045D| 5 0 0 4,500,000 22,500,000 22,500,000
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018t)] 1 500,000 500,000 1,667,000 1,667,000 2,167,000
028t 8 500,000 4,000,000 5,000,000 40,000,000 44,000,000
038t 2 0 0 5,000,000 10,000,000 10,000,000
048t 4 0 5,000,000 20,000,000 20,000,000
. 7 0 0 1,000,000 7,000,000 7,000,000
o 1 0 0 5,000,000 5,000,000 5,000,000
0651 1 0 5,000,000 5,000,000 5,000,000
p| 34 - 6,000,000 - 133,667,000] 139,667,000
018t)] 1 500,000 500,000 4,500,000 4,500,000 5,000,000
025¢7] 3 0 0 4,500,000 13,500,000 13,500,000
048t] 5 0 0 4,500,000 22,500,000 22,500,000
. 8 0 0 5,000,000 40,000,000 40,000,000
= 1 500,000 500,000 5,000,000 5,000,000 5,500,000
04¢] 4 0 0 5,000,000 20,000,000 20,000,000
058t 4 0 0 1,000,000 4,000,000 4,000,000
065t 1 0 0 1,000,000 1,000,000 1,000,000
| 27 - 1,000,000 - 110,500,000{ 111,500,000
61 - 7,000,000 -| 244167000 251,167,000
028t] 1 500,000 500,000 4,500,000 4,500,000 5,000,000
0481] 1 500,000 500,000 4,500,000 4,500,000 5,000,000
ES] 1 500,000 500,000 1,667,000 1,667,000 2,167,000
2 3 - 1,500,000 - 10,667,000 12,167,000




SE & *=2 _
= = (21) 101939 2o g3 2o bl
028tJ| 0 0 4,500,000 4,500,000 4,500,000
28tD| 048tD| 0 0 4,500,000 4,500,000 4,500,000
A - 0 - 9,000,000 9,000,000
- 1,500,000 - 19,667,000 21,167,000
03&tJ| 0 4,500,000 4,500,000 4,500,000
18| 058 D| 0 0 4,500,000 4,500,000 4,500,000
p| - 0 - 9,000,000 9,000,000
- 058tJ| 0 0 900,000 900,000 900,000
e Al - 0 - 900,000 900,000
- - 9,900,000 9,900,000
028t 7| 500,000 500,000 4,500,000 4,500,000 5,000,000
N EEL] BT
048&tD| 0 0 4,500,000 9,000,000 9,000,000
. 028tD| 500,000 500,000 5,000,000 5,000,000 5,500,000
= 0431 0 0 5,000,000 5,000,000 5,000,000
058tD| 0 0 5,240,000 5,240,000 5,240,000
Al - 1,000,000 - 28,740,000 29,740,000
01&t7] 500,000 500,000 4,500,000 4,500,000 5,000,000
028t 7| 0 0 4,500,000 4,500,000 4,500,000
- 048tD| 4,500,000 9,000,000 9,000,000
2=l 028tJ| 0 0 5,000,000 5,000,000 5,000,000
045D| 0 0 5,000,000 5,000,000 5,000,000
05511 0 0 1,000,000 1,000,000 1,000,000




2 "y olst =2 -
B (221) ZE EL TE o
Al - 500,000 - 29,000,000 29,500,000
- 1,500,000 - 57,740,000 59,240,000
028 D] 0 2,500,000 7,500,000 7,500,000
045 D| 0 0 2,500,000 17,500,000 17,500,000
Al - 0 - 25,000,000 25,000,000
EIFSES 028t)| 0 0 2,500,000 7,500,000 7,500,000
042)) 0 0 2,500,000 17,500,000 17,500,000
Al - 0 - 25,000,000 25,000,000
- 0 - 50,000,000 50,000,000
045 D| 0 0 4,500,000 13,500,000 13,500,000
058 7| 0 0 2,500,000 2,500,000 2,500,000
Nty gegsa|  gsgse
Al - 0 - 16,000,000 16,000,000
048 D] 0 0 4,500,000 4,500,000 4,500,000
A - 0 - 4,500,000 4,500,000
- - 20,500,000 20,500,000
028 D] 500,000 500,000 4,500,000 4,500,000 5,000,000
045 D| 0 0 4,500,000 4,500,000 4,500,000
=l 058tD| 0 0 4,500,000 4,500,000 4,500,000
045 D] 0 0 5,000,000 5,000,000 5,000,000
Al - 500,000 - 18,500,000 19,000,000
. 028t)| 0 0 4,500,000 4,500,000 4,500,000
) 042t)) 0 0 4,500,000 4,500,000 4,500,000
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048tD| 0 0 5,000,000 5,000,000 5,000,000
Al - 0 - 14,000,000 14,000,000
- 500,000 - 32,500,000 33,000,000
02&tD| 500,000 2,500,000 4,500,000 22,500,000 25,000,000
048tD| 0 0 4,500,000 4,500,000 4,500,000
1 058 D| 0 0 4,500,000 4,500,000 4,500,000
028t 500,000 1,500,000 5,000,000 15,000,000 16,500,000
Al - 4,000,000 - 46,500,000 50,500,000
01&t2] 500,000 500,000 4,500,000 4,500,000 5,000,000
YA S HB
028 D] 0 0 4,500,000 22,500,000 22,500,000
048t 0| 0 4,500,000 4,500,000 4,500,000
Alsty gothete | Luitiate
058t7| 0 0 900,000 900,000 900,000
028tD| 0 0 5,000,000 15,000,000 15,000,000
| - 500,000 - 47,400,000 47,900,000
- 4,500,000 - 93,900,000 98,400,000
058tJ| 0 900,000 900,000 900,000
06&tJ| 0 0 5,000,000 5,000,000 5,000,000
Al - 0 - 5,900,000 5,900,000
AR PHT
068t 7| 0 0 1,000,000 1,000,000 1,000,000
Al - 0 - 1,000,000 1,000,000
- - 6,900,000 6,900,000
028t 500,000 2,000,000 4,500,000 18,000,000 20,000,000




SE & *=2 _
= = (21) =30 2o g3 2o bl

048tD| 0 0 4,500,000 13,500,000 13,500,000
18D| 03&tJ| 500,000 500,000 5,240,000 5,240,000 5,740,000
A - 2,500,000 - 36,740,000 39,240,000
02&tD| 0 0 4,500,000 18,000,000 18,000,000
- 048tD| 0 0 4,500,000 13,500,000 13,500,000
2=l 03sD] 0 0 5,000,000 5,000,000 5,000,000
p| - 0 - 36,500,000 36,500,000
- 2,500,000 - 73,240,000 75,740,000
028t7| 500,000 500,000 4,500,000 4,500,000 5,000,000
0 0 4,500,000 13,500,000 13,500,000

E3] 0431
0 0 5,000,000 5,000,000 5,000,000

N EEL] BT

Al 5 - 500,000 - 23,000,000 23,500,000
. 3 0 0 4,500,000 13,500,000 13,500,000
28| . 1 0 0 5,000,000 5,000,000 5,000,000
Al 4 - 0 - 18,500,000 18,500,000
9 - 500,000 - 41,500,000 42,000,000
028tD| 500,000 500,000 4,500,000 4,500,000 5,000,000
048t 7| 0 0 4,500,000 4,500,000 4,500,000
_ o 028tJ| 500,000 500,000 5,000,000 5,000,000 5,500,000
° = 048tD| 3 0 0 5,000,000 15,000,000 15,000,000
o 3 0 0 5,000,000 15,000,000 15,000,000
s 3 0 0 5,240,000 15,720,000 15,720,000




28} N
£ =31
=3 R o3 2o

- 1,000,000 - 59,720,000 60,720,000

0 4,500,000 4,500,000 4,500,000

0 0 4,500,000 4,500,000 4,500,000

0 0 5,000,000 5,000,000 5,000,000

0 0 5,000,000 15,000,000 15,000,000

0 0 1,000,000 6,000,000 6,000,000

ATXRRNEHEZ

- 0 - 35,000,000 35,000,000

0 0 240,000 240,000 240,000

0 0 240,000 480,000 480,000

0 0 240,000 720,000 720,000

- - 1,440,000 1,440,000

AlBiT) QprtistE|  uihete

- 1,000,000 - 96,160,000 97,160,000

500,000 1,000,000 4,500,000 9,000,000 10,000,000

0 0 4,500,000 4,500,000 4,500,000

0 0 4,500,000 9,000,000 9,000,000

0 0 1,000,000 1,000,000 1,000,000

- 1,000,000 - 23,500,000 24,500,000

OIHBSHT

0 0 4,500,000 9,000,000 9,000,000

0 0 4,500,000 4,500,000 4,500,000

0 0 4,500,000 9,000,000 9,000,000

- 0 - 22,500,000 22,500,000

- 1,000,000 - 46,000,000 47,000,000




o sh 28 > o3y
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028tJ| 500,000 1,000,000 4,500,000 9,000,000 10,000,000

048tD| 0 0 4,500,000 4,500,000 4,500,000

=l 058 0| 0 0 4,500,000 4,500,000 4,500,000

02&tD| 500,000 1,500,000 5,000,000 15,000,000 16,500,000

Al - 2,500,000 - 33,000,000 35,500,000

2 -SHED
028D| 0 0 4,500,000 9,000,000 9,000,000
042¢0) 0 0 4,500,000 4,500,000 4,500,000
=

028t)| 0 0 5,000,000 15,000,000 15,000,000

Al - 0 - 28,500,000 28,500,000

Al - 2,500,000 - 61,500,000 64,000,000

028t 7| 500,000 1,500,000 4,500,000 13,500,000 15,000,000

MBI LBmER|  gpgse

048&tD| 0 0 4,500,000 4,500,000 4,500,000

058tJ| 0 0 4,500,000 4,500,000 4,500,000

022t)) 500,000 1,000,000 5,000,000 10,000,000 11,000,000

048tD| 0 0 5,000,000 10,000,000 10,000,000

058tJ| 0 0 1,000,000 1,000,000 1,000,000

alNEE

Al - 2,500,000 - 43,500,000 46,000,000

028t 7| 0 0 4,500,000 13,500,000 13,500,000

048tD| 0 4,500,000 4,500,000 4,500,000

028tJ| 0 0 5,000,000 10,000,000 10,000,000

045D| 0 0 5,000,000 10,000,000 10,000,000

052¢) 0 0 1,000,000 1,000,000 1,000,000

12
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Al - 0 - 39,000,000 39,000,000
2,500,000 - 82,500,000 85,000,000
02&t7| 500,000 1,500,000 5,000,000 15,000,000 16,500,000
048&tD| 0 0 5,000,000 5,000,000 5,000,000
1 0 0 1,000,000 3,000,000 3,000,000

058tJ|
0 0 5,240,000 5,240,000 5,240,000
| - 1,500,000 - 28,240,000 29,740,000
028t)| 0 5,000,000 10,000,000 10,000,000
048tD| 0 0 5,000,000 5,000,000 5,000,000
058 D| 0 0 1,000,000 1,000,000 1,000,000
A - 0 - 16,000,000 16,000,000

MlEtTy UststE | Bt

048&tD| 0 0 240,000 240,000 240,000
058tJ| 0 0 240,000 240,000 240,000
2 - 0 - 480,000 480,000
- 1,500,000 - 44,720,000 46,220,000
0 1,000,000 1,000,000 1,000,000

058tJ|
0 0 5,000,000 5,000,000 5,000,000
A 2 - 0 - 6,000,000 6,000,000
058t7| 2 0 0 1,000,000 2,000,000 2,000,000
Al 2 - 0 - 2,000,000 2,000,000
4 - - 8,000,000 8,000,000
SINEEETE 023! 7] 1 500,000 500,000 4,500,000 4,500,000 5,000,000




SE & *=2 _
= = (21) =30 2o g3 2o bl
048 D| 0 0 4,500,000 22,500,000 22,500,000
028tD| 500,000 1,500,000 5,000,000 15,000,000 16,500,000
18tD| 03&tJ| 0 0 5,000,000 5,000,000 5,000,000
048&tD| 0 0 5,000,000 5,000,000 5,000,000
Al - 2,000,000 - 52,000,000 54,000,000
028D| 0 4,500,000 4,500,000 4,500,000
YuHe|EE D
0431 0 0 4,500,000 22,500,000 22,500,000
- 028t)| 0 0 5,000,000 15,000,000 15,000,000
2=l 038 D] 0 0 5,000,000 5,000,000 5,000,000
048t 7| 0 0 5,000,000 5,000,000 5,000,000
A - - 52,000,000 52,000,000
N EEL] BT
- 2,000,000 - 104,000,000 106,000,000
. 028tD| 5 0 2,500,000 12,500,000 12,500,000
= p| 5 - 0 - 12,500,000 12,500,000
Za#ys - 028 D] 5 0 0 2,500,000 12,500,000 12,500,000
e Al 5 - 0 - 12,500,000 12,500,000
10 - - 25,000,000 25,000,000
028t 7| 5 500,000 2,500,000 4,500,000 22,500,000 25,000,000
- 048tD| 3 0 0 4,500,000 13,500,000 13,500,000
= 028tJ| 500,000 500,000 5,000,000 5,000,000 5,500,000
Al - 3,000,000 - 41,000,000 44,000,000
28| 0231] 0 0 4,500,000 18,000,000 18,000,000




sHA 2/ &} 2 _
= = (21) =30 2o g3 2o bl
04547 0 0 4,500,000 13,500,000 13,500,000
28| 02547 0 0 5,000,000 5,000,000 5,000,000
p] - 0 - 36,500,000 36,500,000
- 3,000,000 - 77,500,000 80,500,000
052t 0 0 4,500,000 4,500,000 4,500,000
028t 500,000 500,000 5,000,000 5,000,000 5,500,000
1800 048] 0 0 5,000,000 10,000,000 10,000,000
055t 0 0 1,000,000 1,000,000 1,000,000
H - 500,000 - 20,500,000 21,000,000
2em 04817 0 900,000 900,000 900,000
0257 0 0 5,000,000 5,000,000 5,000,000
MY QBsE | asiste

28] 042D 0 0 5,000,000 10,000,000 10,000,000
0587 0 0 1,000,000 3,000,000 3,000,000
3 - 0 - 18,900,000 18,900,000
- 500,000 - 39,400,000 39,900,000
025t 500,000 1,500,000 4,500,000 13,500,000 15,000,000
0357 0 0 750,000 750,000 750.000
0427 0 0 4,500,000 4,500,000 4,500,000
sgdgeens 1800 058t 7| 0 0 900,000 900,000 900,000
028D 500,000 1,500,000 5,000,000 15,000,000 16,500,000
032D 500,000 500,000 5,000,000 5,000,000 5,500,000
048] 0 0 5,000,000 5,000,000 5,000,000
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_ 05847 0 0 1,000,000 1,000,000 1,000,000
= A 3,500,000 - 45,650,000 49,150,000
01817] 500,000 1,000,000 4,500,000 9,000,000 10,000,000
02817 4,500,000 13,500,000 13,500,000
0451 0 0 4,500,000 4,500,000 4,500,000
seagens . 0587) 0 0 900,000 900,000 900,000
= 0251] 0 0 5,000,000 15,000,000 15,000,000
03847 0 0 5,000,000 5,000,000 5,000,000
04817 0 0 5,000,000 5,000,000 5,000,000
A - 1,000,000 - 52,900,000 63,900,000
- 4,500,000 - 98,650,000 103,050,000

astty s | gsigse

02811 500,000 500,000 5,000,000 5,000,000 5,500,000
. 0451 0 0 5,000,000 5,000,000 5,000,000
g 05547 0 0 1,000,000 2,000,000 2,000,000
A - 500,000 - 12,000,000 12,500,000
02847 0 0 5,000,000 5,000,000 5,000,000
~ 04817 0 0 5,000,000 5,000,000 5,000,000
= 05811 0 0 1,000,000 2,000,000 2,000,000
ol - 0 - 12,000,000 12,000,000
- 500,000 - 24,000,000 24,500,000
_ 0281] 500,000 1,500,000 4,500,000 13,500,000 15,000,000
= 0351 500,000 500,000 4,500,000 4,500,000 5,000,000




SE & *=2 _
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- 0 0 4,500,000 9,000,000 9,000,000
o=l 500,000 500,000 4,500,000 4,500,000 5,000,000
- 02&t7| 500,000 500,000 5,000,000 5,000,000 5,500,000
= 03&tJ| 500,000 500,000 5,000,000 5,000,000 5,500,000
048tD| 0 0 5,000,000 10,000,000 10,000,000
Al - 3,500,000 - 51,500,000 55,000,000
ES] 500,000 500,000 4,500,000 4,500,000 5,000,000
028t)| 4,500,000 13,500,000 13,500,000
038 D] 0 0 4,500,000 4,500,000 4,500,000
- 048t 7| 0 0 4,500,000 13,500,000 13,500,000
2=l 028t 7| 0 0 5,000,000 5,000,000 5,000,000
N EEL] BT
03&tJ| 0 0 5,000,000 5,000,000 5,000,000
048tD| 0 5,000,000 10,000,000 10,000,000
| - 500,000 - 56,000,000 56,500,000
. 03&tD| 0 0 240,000 240,000 240,000
nes Al - 0 - 240,000 240,000
- 4,000,000 - 107,740,000 111,740,000
028t 7| 500,000 1,500,000 4,500,000 13,500,000 15,000,000
048tD| 0 0 4,500,000 9,000,000 9,000,000
HHESTHZ 1880] 028tJ| 500,000 1,500,000 5,000,000 15,000,000 16,500,000
o 0 0 5,000,000 15,000,000 15,000,000
R 0 0 5,240,000 5,240,000 5,240,000
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Al - 3,000,000 - 57,740,000 60,740,000
028 D] 0 0 4,500,000 13,500,000 13,500,000
045 D| 0 0 4,500,000 9,000,000 9,000,000
x4 50 K 01&7] 500,000 500,000 5,000,000 5,000,000 5,500,000
=enes 028 D] 0 0 5,000,000 15,000,000 15,000,000
048tD| 0 0 5,000,000 20,000,000 20,000,000
A - 500,000 - 62,500,000 63,000,000
- 3,500,000 - 120,240,000 123,740,000
028t)| 2 500,000 1,000,000 4,500,000 9,000,000 10,000,000
045 D| 2 0 0 4,500,000 9,000,000 9,000,000
2 0 0 2,250,000 4,500,000 4,500,000
Nty gegsa|  gsgse
058 7| 2 0 0 4,500,000 9,000,000 9,000,000
1 1 0 0 900,000 900,000 900,000
022t)) 2 500,000 1,000,000 5,000,000 10,000,000 11,000,000
048 D| 2 0 0 5,000,000 10,000,000 10,000,000
058 D] 0 0 1,000,000 1,000,000 1,000,000
Al - 2,000,000 - 53,400,000 55,400,000
028 D] 0 0 4,500,000 9,000,000 9,000,000
045 D] 0 4,500,000 9,000,000 9,000,000
058 0| 0 0 900,000 900,000 900,000
028t)| 0 0 5,000,000 10,000,000 10,000,000
042t)) 0 0 5,000,000 10,000,000 10,000,000
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j 053¢ i 0 0 1,000,000 1,000,000 1,000,000
& e H 10 - 0 - 39,900,000 39,900,000
A0 24 - 2,000,000 - 93,300,000 95,300,000
02517] 6 500,000 3,000,000 4,500,000 27,000,000 30,000,000
ES] 043t7] 2 0 0 4,500,000 9,000,000 9,000,000
S 3 8 - 3,000,000 - 36,000,000 39,000,000
deth Esee 025t7] 7 0 0 4,500,000 31,500,000 31,500,000
28] 0431] 2 0 0 4,500,000 9,000,000 9,000,000
H 9 - 0 - 40,500,000 40,500,000
A 17 - 3,000,000 - 76,500,000 79,500,000
g 3 701 - 68,000,000 -|  2.740.494.000| 2.808.494.000
=R 701 - 68,000,000 -|  2.740.494.000| 2.808.494.000
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= 8| (217]) Bhali 2~ =o =a e = 25l
028tJ| 4 500,000 2,000,000 4,500,000 18,000,000 20,000,000
18D| 048tD| 5 0 0 4,500,000 22,500,000 22,500,000
A 9 2,000,000 - 40,500,000 42,500,000
ASIEEZ 02&tD| 4 0 4,500,000 18,000,000 18,000,000
2stD| 048tD| 5 0 0 4,500,000 22,500,000 22,500,000
Al 9 - 0 - 40,500,000 40,500,000
18 - 2,000,000 - 81,000,000 83,000,000
018tD] 500,000 500,000 4,500,000 4,500,000 5,000,000
028 D] 7 500,000 3,500,000 4,500,000 31,500,000 35,000,000
18D| 048t 7| 7 0 0 4,500,000 31,500,000 31,500,000
058t7| 3 0 0 2,250,000 6,750,000 6,750,000
Al 18 - 4,000,000 - 74,250,000 78,250,000
= 01&D] 2 500,000 1,000,000 4,500,000 9,000,000 10,000,000
028t)| 0 0 4,500,000 31,500,000 31,500,000
28tD| . 0 0 4,500,000 27,000,000 27,000,000
o=l 0 0 4,740,000 4,740,000 4,740,000
A - 1,000,000 - 72,240,000 73,240,000
- 5,000,000 - 146,490,000 151,490,000
028tJ| 500,000 1,000,000 4,500,000 9,000,000 10,000,000
18| 048tD| 0 0 4,500,000 13,500,000 13,500,000
Al - 1,000,000 - 22,500,000 23,500,000
25| 02stD| 0 0 4,500,000 9,000,000 9,000,000




2021 Z &t

e - 28 > _

= 8| (217]) Bhali 2~ =o =a = 25l
03&tD| 1 0 0 500,000 4,500,000 4,500,000
28tD| 048tD| 3 0 0 4,500,000 13,500,000 13,500,000
A 6 0 - 27,000,000 27,000,000
A Al - 1,000,000 - 49,500,000 50,500,000
. 1 0 0 4,500,000 4,500,000 4,500,000
. o= 4 500,000 2,000,000 4,500,000 18,000,000 20,000,000
= 045D| 4 0 0 4,500,000 18,000,000 18,000,000
Al 9 - 2,000,000 - 40,500,000 42,500,000
st 01&+D] 1 500,000 500,000 750,000 750,000 1,250,000
- 028 D] 3 0 0 4,500,000 13,500,000 13,500,000
2=l 048t 0| 4 0 0 4,500,000 18,000,000 18,000,000
Al 8 - 500,000 - 32,250,000 32,750,000
Al 17 - 2,500,000 - 72,750,000 75,250,000
. 058tD| 1 0 0 900,000 900,000 900,000
SIS Z 1= Al 1 - 0 - 900,000 900,000
Al 1 - 0 - 900,000 900,000
& Al 81 - 10,500,000 - 350,640,000 361,140,000
= 81 - 10,500,000 - 350,640,000 361,140,000
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W OARDIR AP - S Aol ot SaFE [EX] M55 olaMal] <HY 2016. 4. 20.>

JHA&E ZTHAZHH] H MM
[HIES=3A]
= |£_)I~7| 7:|I-7|.é’|-7_||- ot ZF7LALZE
® ® 7l 18 EE ) aat mey
Tz . Izt N A A
= FSA7I C o ® ® &= (@-®)
T7:”—| §7|' (XI‘A._I' i‘l—i—%) (@"‘@_@)
A = 23,840,585,536  1,338,571,668 577,487,638 0 1,916,059,306  21,924,526,230
T 5 = 270,163,000 9,736,384 13,508,150 0 23,244,534 246,918,466
02 21 A 21 A 1,364,109, 260 364,195,352 225,634,436 0 589,829,788 774,279,472
:; &7l 8 E 663,929,942 65,386,483 61,712,150 0 127,098,633 536,831,309
1S
XpAE Arg 2 e 9,700,074 9,700,074 0 0 9,700,074 0
= A 7,000,000 7,000,000 0 0 7,000,000 0
& Al 26,155,487,812  1,794,589,961 878,342,374 0 2,672,932,335  23,482,555,477
NESPN Rl
@ 7H |
7y
oy s At el=
KFAE o
& A
g A 26,155,487,812  1,794,589,961 878,342,374 0 2,672,932,335  23,482,555,477
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